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i 100kN/M%#BZ % -l -~ = ~-|I3mx#EZB - ~ = - -] 100kN/m%Z#8% % = -~ = -|3m%EHBA S = ~ = = =
ZThLst 1.00{0.00 ~ 481 59.96| ZHList 1000 ~ 0.00] 1.74 8.79 ZhLs 1.00f 500 ~ 5.05 59.96| 1 List | 500 ~ 505| 1.74 8.79
9 100kN/mM%#8Z % -l -~ = -[3mZEBRDE| - ~ = = - 100kN/M%#BZ % = -~ = ~-|3mEBZD o ~ = - -
ZTh st 1.00/0.00 ~ 522 65.05| £HList |000 ~ 522| 1.86 9.40 ZhLst 1.00] 500 ~ 581 65.05| 1 List | 500 ~ 581| 1.86 9.40
3 100kN/M%#BZ % -l -~ = -|I3mx#EZB - ~ = - -] 100kN/m%Z#8% % = -~ = -|3m%EHBA S = ~ = = =
ZhLst 1.00{0.00 ~ 551 68.75| M Llst 1000 ~ 0.00| 157 7.95 ZhLst 1.00] 500 ~ 6.54 68.75| £ List | 500 ~ 6.54| 157 7.95
4 100kN/ Mm% x5 -l -~ = -[3mZEBRE - ~ = = - 100kN/M%#BZ % = -~ = ~-|3mEBZD o ~ = - -
ZTh st 1.00/0.00 ~ 6.69 8454 FhLis 1000 ~ 000| 1.68 8.49 Zh st 1.00] 500 ~ 821 8454 ThbLis | 500 ~ 821| 1.68 8.49
5 100kN/M%#BZ % -l -~ = -|I3mx#EZB - ~ = - -] 100kN/m%Z#8% % = -~ = -|3m%EHBA S = ~ = = =
ZThLst 1.00{0.00 ~ 7.36 93.85| ZHList 1000 ~ 7.36] 1.89 9.55 ZhLs 1.00f 500 ~ 987 93.85| 1 List | 500 ~ 9.87| 1.89 9.55
6 100kN/ Mm% x5 -l -~ = -[3mZzBRDE| - ~ = = - 100kN/M%#BZ % = -~ = ~-|3mEBZD o ~ = - -
ZTh st 1.00/0.00 ~ 397 4982| FhList |000 ~ 397| 243 12.26 Zh st 1.00] 500 ~ 7.96 4982| #hList | 500 ~ 7.96| 243 12.26
7 100kN/M%#BZ % -l -~ = ~-|I3mx#EZB - ~ = - -] 100kN/m%Z#8% % = -~ = -|3m%EHBA S = ~ = = =
ZhLst 1.00{0.00 ~ 4.15 51.93| 1 Lis 1000 ~ 4.15] 2.30 11.65 ZhLs 1.00f 500 ~ 6.97 51.93] ZhList | 500 ~ 6.97| 2.30 11.65
8 100kN/mM%#BZ % -l -~ = -[3mZzBRBE| - ~ = = - 100kN/M%#BZ % = -~ = ~-|3mEBZD o ~ = - -
Zh st 1.00/0.00 ~ 4380 59.85| ZhList 1000 ~ 0.00] 1.71 8.63 ZhLst 1.00] 500 ~ 504 59.85| T List | 500 ~ 504| 1.71 8.63
100kN/M%#BZ % ~ ImEFRBZ D ~ 100kN/mM%Z#BZ % ~ ImERBRD ~
ZThLst ~ ZhLst ~ ZhLst ~ Zh st ~
100kN/mM%#8Z % ~ ImERZD ~ 100kN/m#Z#8 25 ~ ImEZD ~
zh st ~ ZhLst ~ Zh st ~ ZhUs ~
100kN/M%#BZ % ~ ImEFRBZ D ~ 100kN/mM%Z#BZ % ~ ImERBRD ~
ZThLst ~ ZhLst ~ ZhLst ~ ZhLst ~
100kN/ Mm% x5 ~ ImEREZD ~ 100kN/m#Z#8 25 ~ ImEZD ~
zh st ~ ZhLst ~ Zh st ~ ZhUs ~
100kN/M%#BZ % ~ 3ImEBAD ~ 100kN/m%i#B 2% ~ ImFHBZ S ~
Fhst ~ ZhLst ~ ZhLst ~ TS ~
100kN/mM%#BZ % ~ 3mERB D ~ 100kN/mZE# % % ~ ImEBZAD ~
ZThLlst ~ ZhLlst ~ Zh st ~ ZhUst ~
100kN/M%#BZ % ~ 3ImERBAD ~ 100kN/m%i#B 2% ~ ImFHBZ S ~
ZThLlst ~ Zhlst ~ ZhLlst ~ ZhUst ~
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